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Translation in English

Sub: Industrial Sociology (Part-11) (SC-602)

Instructions:  Attempt all questions.

Q.1

oA W N PN
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Answer in detail (Any Two) (40)
Discuss on types and structure of trade union.

What is Trade union? Write about the tacties used by the trade union during the

period of dispute.

Write on the rise of Indian workers union movement and its progress.

What is collective bargaing? Write alout its objectives or aims in brief.

Answer in brief (Any Three) (30)
Write an essay on Maternity Act.

What are the defects and hurdles in progress of Indian Labour union ?

Describe the remedies to solve the industrial disputes.

Explain in detail on the tactics of employers during struggling period.

Discuss in brief the social security scheme.

Write short notes (Any Two) (30)
What is Industrial dispute? Explain in detail the causes of Industrial dispute.

Illustrate on coal mine Provident Fund Bonus Scheme Act.

Write an essay on International Labour organization.

Illustrate on the brief history of industrial relations and its importance.
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